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827-ESC#show ip interface brief

Interface IP-Address OK? Method Status Protocol
ATMO unassigned YES manual up up
ATMO.1 unassigned YES unset up up
Ethernet0 10.10.10.1 YES manual up up
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Router#show interface atm 0
ATMO0 is administratively down, line protocol is down
<... snipped ...>

ATMO QIE{H|O|A HEf7I EEl S™Mo 2 LR El 2 ATMO0 2/E{H 0| A0 A no shutdown HHEE
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Router#configure terminal

Enter configuration commands, one per line. End with CNTL/Z.
Router (config) #interface atm 0

Router (config-if) #no shut

Router (config-if) #end

Router#write memory
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Router#show interface atm 0
ATMO is down, line protocol is down
<... snipped ...>
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Router#configure terminal

Enter configuration commands, one per line. End with CNTL/Z.
Router (config) #interface atm 0

Router (config-if) #dsl operating-mode auto

Router (config-if) #end

Router#write memory
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1. Cisco I0S® A~ Z E Qo] HAE & QI LICH & R:Cisco 10S Software ZE2|A 12.1(1)XB0i| A
= X S38tK| ot &Lich
Router#show version
I-—- Used to determine your Cisco IOS software release. Cisco Internetwork Operating System
Software IOS (tm) C820 Software (C820-0SY656I-M), Version 12.1(3)XG3,
EARLY DEPLOYMENT RELEASE SOFTWARE (fcl)
I-—— The two lines immediately preceding appear on one line on the router.
TAC:Home:SW:I0S:Specials for info Copyright (c) 1986-2000 by cisco Systems, Inc. Compiled
Wed 20-Dec-00 16:44 by detang Image text-base: 0x80013170, data-base: 0x80725044 <...

snipped ...>
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Router#configure terminal

Enter configuration commands, one per line. End with CNTL/Z.
Router (config) #logging console

Router (config) #logging buffer

Router (config) #service timestamp debug datetime msec
Router (config) #service timestamp log datetime msec
Router (config) #end

Router#write memory

Building configuration...

[OK]

Router#terminal monitor

3. BtRE0|M C|HZ S &8 ot
Router#debug atm events
ATM events debugging is on
Router#
2d18h:
2d18h: RX interrupt: conid = 0, rxBd = 0x80C7EF74 length=52
2d18h: Data Cell received on vpi = 8 veci = 35
!-—— Your VPI/VCI. 2d18h: 2d18h: RX interrupt: conid = 0, rxBd = 0x80C7EECO length=52
2d18h: Data Cell received on vpi = 8 vci = 35 2d18h: 2d18h: RX interrupt: conid = 0, rxBd =
0x80C7EECC length=52 2d18h: Data Cell received on vpi = 8 vci = 35 2d18h: 2d18h: RX
interrupt: conid = 0, rxBd = 0x80C7EED8 length=52 2d18h: Data Cell received on vpi = 8 vci
= 35
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Router#undebug all
!-—— Used to turn off the debug events. All possible debugging has been turned off.
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C:\>ping 192.168.1.1

Pinging 192.168.1.1 with 32 bytes of data:

Reply from 192.168.1.1: bytes=32 time<lOms TTL=247
Reply from 192.168.1.1: bytes=32 time<lOms TTL=247
Reply from 192.168.1.1: bytes=32 time<lOms TTL=247
Reply from 192.168.1.1: bytes=32 time<lOms TTL=247
Ping statistics for 192.168.1.1:

Packets: Sent = 4, Received = 4, Lost = 0 (0% loss),
Approximate round trip times in milli-seconds:

1
1
1
1

Minimum = Oms, Maximum = Oms, Average Oms
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C:\>ping 192.168.1.1

Pinging 192.168.1.1 with 32 bytes of data:
Request timed out.
Request timed out.
Request timed out.
Request timed out.

Ping statistics for 192.168.1.1:

Packets: Sent = 4, Received = 0, Lost = 4 (100% loss),
Approximate round trip times in milli-seconds:
Minimum = Oms, Maximum = Oms, Average = 0ms
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Router#show spanning-tree

Bridge group 1 is executing the ieee compatible Spanning Tree protocol
Bridge Identifier has priority 32768, address 0001.96a4.a8bc
Configured hello time 2, max age 20, forward delay 15
Current root has priority 32768, address 0000.0c25.36f4
Root port is 3 (ATMO), cost of root path is 1562
Topology change flag not set, detected flag not set
Number of topology changes 2 last change occurred 00:00:56 ago from EthernetO
Times: hold 1, topology change 35, notification 2
hello 2, max age 20, forward delay 15
Timers: hello 0, topology change 0, notification 0, aging 300

Port 2 (Ethernet0) of Bridge group 1 is forwarding
Port path cost 100, Port priority 128, Port Identifier 128.2.
Designated root has priority 32768, address 0000.0c25.36f4
Designated bridge has priority 32768, address 0001.96a4.a8bc
Designated port id is 128.2, designated path cost 1562
Timers: message age 0, forward delay 0, hold 0
Number of transitions to forwarding state: 1
BPDU: sent 44, received 0

Port 3 (ATMO) of Bridge group 1 is forwarding
Port path cost 1562, Port priority 128, Port Identifier 128.3.
Designated root has priority 32768, address 0000.0c25.36f4
Designated bridge has priority 32768, address 0000.0c25.36f4
Designated port id is 128.17, designated path cost 0
Timers: message age 2, forward delay 0, hold 0
Number of transitions to forwarding state: 1
BPDU: sent 2, received 53

Router#
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Router#show bridge

Total of 300 station blocks, 298 free
Codes: P - permanent, S - self

Bridge Group 1:

Address Action Interface Age RX count TX count
0010.a492.el1d2 forward Ethernet0 4 163 4
0010.7bb9.bdla forward ATMO 0 4 3
Router#
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